Annales Academiæ Scientiarum Fennicæ Series A. I. Mathematica Volumen 16, 1991, 151–154

FACTORS FOR $|\overline{N}, p_n|_k$ SUMMABILITY OF INFINITE SERIES

Hüseyin Bor

Abstract. In this paper we prove a theorem on $|\overline{N}, p_n|_k$ summability factors, which generalizes a result of Sulaiman [3] on |C, 1| summability factors.

1. Introduction. Let $\sum_{n=0}^{\infty} a_n$ be a given infinite series of complex numbers with the sequence of partial sums (s_n) . Let (p_n) be a sequence of positive numbers such that

(1.1)
$$P_n = \sum_{\nu=0}^n p_{\nu} \to \infty \text{ as } n \to \infty \quad (P_{-i} = p_{-i} = 0, i \ge 1).$$

The sequence-to-sequence transformation

(1.2)
$$t_n = \frac{1}{P_n} \sum_{\nu=0}^n p_{\nu} s_{\nu}, \qquad n \ge 0,$$

defines the sequence (t_n) of the (\overline{N}, p_n) means of the series $\sum a_n$, generated by the sequence of coefficients (p_n) (see [2]). The series $\sum a_n$ is said to be summable $|\overline{N}, p_n|_k$, where $k \geq 1$, if (see [1])

(1.3)
$$\sum_{n=1}^{\infty} (P_n/p_n)^{k-1} |t_n - t_{n-1}|^k < \infty.$$

In the special case when $p_n = 1$ for all values of n (respectively k = 1), $|\overline{N}, p_n|_k$ summability is the same as $|C, 1|_k$ (respectively $|\overline{N}, p_n|$) summability.

For any sequence (λ_n) we write $\Delta \lambda_n = \lambda_n - \lambda_{n+1}$.

Sulaiman [3] has proved the following theorem for $|C, 1| = |C, 1|_1$ summability factors of infinite series.

doi:10.5186/aasfm.1991.1605

Hüseyin Bor

Theorem A. Let $(X_n)_{n\geq 0}$ be a given sequence of positive numbers and let

(1.4)
$$s_n = O(X_n)$$
 as $n \to \infty$.

If $(\lambda_n)_{n>0}$ is a sequence of complex numbers such that

(1.5)
$$\sum_{n=1}^{\infty} \frac{X_n |\lambda_n|}{n} < \infty,$$

(1.6)
$$\sum_{n=0}^{\infty} X_n |\Delta \lambda_n| < \infty,$$

then the series $\sum_{n=0}^{\infty} a_n \lambda_n$ is summable |C, 1|.

2. The aim of this paper is to generalize Theorem A for $|\overline{N}, p_n|_k$ summability. Now, we shall prove the following theorem.

Theorem. Let $(X_n)_{n\geq 0}$ be a given sequence of positive numbers and let condition (1.4) of Theorem A be satisfied. If $(\lambda_n)_{n\geq 0}$ is a sequence of complex numbers such that

(2.1)
$$\sum_{n=0}^{\infty} (p_n/P_n) (|\lambda_n|X_n)^k < \infty$$

and the condition (1.6) of Theorem A is satisfied, then the series $\sum_{n=0}^{\infty} a_n \lambda_n$ is summable $|\overline{N}, p_n|_k$, where $k \geq 1$.

Remark. If we take $p_n = 1$ for all values of n in this theorem, then we get $|C, 1|_k$ summability of the series $\sum a_n \lambda_n$; in particular, the case k = 1 yields Theorem A.

Proof. Let (T_n) be the sequence of the (\overline{N}, p_n) means of the series $\sum a_n \lambda_n$. Then, by definition, we have

$$T_n = \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \sum_{z=0}^\nu a_z \lambda_z = \frac{1}{P_n} \sum_{\nu=0}^n (P_n - P_{\nu-1}) a_\nu \lambda_\nu, \qquad n \ge 0.$$

Then, for $n \geq 1$, we have

$$T_n - T_{n-1} = \frac{p_n}{P_n P_{n-1}} \sum_{\nu=0}^n P_{\nu-1} a_{\nu} \lambda_{\nu}.$$

152

Using Abel's transformation we get

$$T_{n} - T_{n-1} = -\frac{p_{n}}{P_{n}P_{n-1}} \sum_{\nu=0}^{n-1} p_{\nu}s_{\nu}\lambda_{\nu} + \frac{p_{n}}{P_{n}P_{n-1}} \sum_{\nu=0}^{n-1} P_{\nu}s_{\nu}\Delta\lambda_{\nu} + \frac{p_{n}s_{n}\lambda_{n}}{P_{n}}$$
$$= T_{n,1} + T_{n,2} + T_{n,3}, \quad \text{say.}$$

To complete the proof of the theorem, by Minkowski's inequality, it is sufficient to show that

$$\sum_{n=1}^{\infty} (P_n/p_n)^{k-1} |T_{n,z}|^k < \infty \quad \text{for} \quad z = 1, 2, 3.$$

First, applying Hölder's inequality and using the fact that

$$\sum_{n=\nu+1}^{m+1} \frac{p_n}{P_n P_{n-1}} = O(1/P_\nu),$$

we get

$$\begin{split} \sum_{n=1}^{m+1} (P_n/p_n)^{k-1} |T_{n,1}|^k &\leq \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}^k} \Big\{ \sum_{\nu=0}^{n-1} p_\nu |s_\nu| |\lambda_\nu| \Big\}^k \\ &= O(1) \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}^k} \Big\{ \sum_{\nu=0}^{n-1} p_\nu X_\nu |\lambda_\nu| \Big\}^k \\ &= O(1) \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}} \Big\{ \sum_{\nu=0}^{n-1} p_\nu (X_\nu |\lambda_\nu|)^k \Big\} \times \Big\{ \frac{1}{P_{n-1}} \sum_{\nu=0}^{n-1} p_\nu \Big\}^{k-1} \\ &= O(1) \sum_{\nu=0}^{m} p_\nu (X_\nu |\lambda_\nu|)^k \sum_{n=\nu+1}^{m+1} \frac{p_n}{P_n P_{n-1}} \\ &= O(1) \sum_{\nu=0}^{m} (p_\nu / P_\nu) (X_\nu |\lambda_\nu|)^k = O(1) \end{split}$$

as $m \to \infty$, by virtue of (1.4) and (2.1). Again, we have

$$\begin{split} \sum_{n=1}^{m+1} (P_n/p_n)^{k-1} |T_{n,2}|^k &\leq \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}^k} \Big\{ \sum_{\nu=0}^{n-1} P_\nu |s_\nu| |\Delta \lambda_\nu| \Big\}^k \\ &= O(1) \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}^k} \Big\{ \sum_{\nu=0}^{n-1} P_\nu X_\nu |\Delta \lambda_\nu| \Big\}^k \\ &= O(1) \sum_{n=1}^{m+1} \frac{p_n}{P_n P_{n-1}} \Big\{ \sum_{\nu=0}^{n-1} P_\nu X_\nu |\Delta \lambda_\nu| \Big\} \times \Big\{ \frac{1}{P_{n-1}} \sum_{\nu=0}^{n-1} P_\nu X_\nu |\Delta \lambda_\nu| \Big\}^{k-1} \\ &= O(1) \sum_{\nu=0}^{m} X_\nu |\Delta \lambda_\nu| = O(1) \end{split}$$

as $m \to \infty$, by (1.4) and (1.6). Finally, we get

$$\sum_{n=1}^{m} (P_n/p_n)^{k-1} |T_{n,3}|^k = O(1) \sum_{n=1}^{m} (p_n/P_n) (X_n|\lambda_n|)^k = O(1)$$

as $m \to \infty$, by virtue of (1.4) and (2.1). This completes the proof of the theorem.

The author would like to express his sincerest thanks to the referee for his kind interest and helpful suggestions for the improvement of this paper.

References

- BOR, H.: On two summability methods. Math. Proc. Cambridge Philos. Soc. 97, 1985, 147-149.
- [2] HARDY, G.H.: Divergent series. Oxford University Press, Oxford, 1973.
- [3] SULAIMAN, W.T.: Multipliers for |C,1| summability of Jacobi series. Indian J. Pure Appl. Math. 18, 1987, 1121-1130.

Erciyes University Kayseri 38039 Turkey

Received 14 June 1990